BERFIBERKSE Y v h—ER [ SBEEEES IEES
» X B & WL Rk AR 18
20224F [ FE1EIBARKEY v H—1)—S Norte 13} BE158
BB [2022%F9 8278 (k) 1100 | HREARX | 905 | £5B& | HERFEYSIUR
x & iE | B [ 250 CliEE| 434 %| A | ER [EvFkiR] ATZ | BZ [8E% 0 A
SGEETE WA F Bl =1 EfRE 3 EADBEHE BE ERA
E BRER 7B Bl & 2 E2/ -] I 28
it/ g4/ 4 0 _— ! I/ B/ T
HRKE 0 2 EFTFERKEFE
KICK OFF 32 — 32 B= 0 # * 1 = 34 — 37
X K a—t =l ) | 1 | & ) B a—t xR
2 % g | g || R B F A 5 B |® BT A B[t | oan | s YES
0 B &G 21| ck|aK]| 21| #RiF ikt 0
864> 0 g 5 2 |DF|DF| 3 | ML $RER 0
1 1 FERE 53k 16|DF|DF| 4 | thE A ©w» 1 1
0 FI& M4 ©=| 4 |DF|DF| 17 R #Ek 0
0 /N =2 ) 5 |DF|DF| 19| ZFHR KB 0 874
0 BEAR KiE 8 |MF|MF| 7 | BRiEH B 0 874
589 1 1 R 8B 25 |MF|MF| 22| A BE 0
835 0 25 B1E 26 |[MF|MF| 14| ZMH fik 1 1
3 3 e £ 11 |FW|MF| 18| #21L E{= 1] 3 2 1
1 1 1EE s 14 | FW]FW| 11 XE & 2 2 90+2%
554 1 1 2 EH WA 28 |[FW|FwW| 16| 3 = 1 1 754
B #X 12| GK| GK| 1 TR =3
211 2 15(DF|DF| 5| = BX 0 19
2 0 HEEK 24 |DF|DF| 28| ER& BABR
RH EKX 33 |DF|DF| 34| b5
=5 EHR 6 |[MFIMF[ 24| KL #EE
26 0 KE K& 20 |[MFIMF| 25| #8 ®E
28| 864 0 KIS FAAER 9 [FWIMF[ 35| &#t fBZ 0 7
25 0 &R SZAE 29 [FwlFw| 15|  #k EEst 0 11
9 0 it {218 35| FW|FwW| 26 | $BAHR SAA 1 1 16
2 &8 15 BB EE 2 &£-8 15
B | B/ K £ I E—ER R B | B/ K &
VAN J\ {4 HOF)
g;z 21 2 ;‘wgﬁ;f;ﬂ wx | F LB wie | s
4 4 8 2a—hk 9 2 7
4 0 4 G K 5 1 4
1 1 2 C K 2 0 2
3 4 7 BEEFK 9 2 7
1 2 3 FIEFK 2 1 1
1 2 3 |Fzvam| 2 1 1
0 0 0 P K 0 0 0

GED) ATHAFHOBFE. MEI)—FvIBD55. FTHIFIZLEBDERLTIVS.

GRIFEH] STELFRELAT LA, S2ELRIGTA. S3DIEMLE, S413 AMRAIL(F) | So:E AR (fh) . S6:RE . CS:E&H2E

| F—L B/RE 7 BARB (~:RUTIL, —: F59UKSR, 1 SRR, S va—b HiAT )
22493 fEX [18F HILWELZ |19 FTRKF |Hr-2 22 T i &1 19 ~ — img-1i 18 iHES
765 EX Aord— a1 3 — i1l 11 [ ERSI YT irvan

SRS EIES 47:12 (02:12) B 49:13 (04:13) SAFTERRT  1:36:25

[f&=]



